Applied Math 26 General Identities
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Short Questions

Write the short answers of the following:

Prove that:  Cos () = Cosp
Prove that: sin (- 8) =- sind

Prove that: tan(- Q) = - tanf

Cos (/_\E- BJ =sin 3

Prove that Sin ( %—(—)) =cos 6

Sin (A +0) =-sin0
Show that: Sin (a0 + ) + sin (a0 — B) = 2sin o cos P

Cos (o + B) —cos (a— P) =-2 sin a sin B

Prove that: Sin ((—) +%J + cos (6 +%J =cos 0

Prove that:  tan(45°+ 0) tan(45° - 0) = 1

Express: sin X cos 2x — sin 2xX ¢os X as single term

Express: Cos (atb)cos(a—b)- sin (at+b) sin(a—b) as single term.

2 . 3
Prove that: Cos 2 o =cos” o —sin” o

p hat: g — 2tan o
rove that: tan2 o —m
. l-cos2a
Prove that: Sin“a= T
1+Cos 2
Prove that: Cos’qt = —m—m———
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Q.17 Ifsinb= 3 and the terminal side of 0 lies in 1% quadrant,find cos n

) .o ot
Q.18 Provethat: sino =2 sin Z cos =

= ool = 5 B
Q.19 Prove that: COSa = cos 5 = sin -

Q.20 Express the sum as product: cos 12 8 +cos 4 0
Q.21 Express cos0- cos40  asproduct:

Q.22 Express assum or difference 2cos 50 sin 30
Q.23 Express assum or difference cos 30 cos 6

Q.24 Express sin(x + 300) + sin(x — 300) as product

7
Q.25 FindcosBifsinB= 75 and angle 0 is an acute angle.

Answers
2
Q.11 —sinx Q.12 cos2a Q.17 _E
\
Q.20 2cos 88 cos 40 Q21 2sinZ sinZ
1
Q.22 sin 80 — sin 20 Q.23 | cos 40 + cos 20 |
i 24
Q.24 2sin x cos 30 Q.25 i
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